ALL INDIA INSTITUTE OF MEDICAL SCIENCES ANSARI NAGAR, NEW DELHI-29. STORES SECTION (DO)

Ref. No. Ref.No.71/Stores(DO)/Path/Proprietary/2015-16/FSC

Dated:10.03.2016

Sub:- Purchase of "TAAB Chemical" for the department of Pathology, (AIIMS), New Delhi-29, on

proprietary basis Inviting comments thereon.

The Institute is in the process to purchase "TAAB Chemical" for the department of Pathology,

(AIIMS), New Delhi from M/s. Jai Laxmi Enterprises, New Delhi-52, Delhi (who is the authorized Indian Agent

M/s. TAAB Laboratories Equipment Ltd., England) on proprietary basis. The proposal submitted by M/s. TAAB

Laboratories Equipment Ltd., England, and PAC Certifications are attached.

The above documents are being uploaded for open information to submit objections, comments,

if any, from any manufacturer regarding proprietary nature of the equipment/item within issue of 21

days giving reference No.71/Stores(DO)/Path/Proprietary/2015-16/FSC. The comments should be

received by office of Sr. Stores Officer, Store Section (DO), Animal House Building, Near Biotechnology

Building at AlIMS on or before 04.04.2016 upto 12.30 p.m., failing which it will be presumed that any

other vendor is having no comment to offer and case will be decided on merits.

Yours faithfully,

Sr. STORES OFFICER

Encl: Related documents enclosed.

ALL INDIA INSTITUTE OF MEDICAL SCIENCES ANSARI NAGAR, NEW DELHI 110029 PROPRIETARY/SPECIFIC BRAND GOODS CERTIFICATE

Item/Type/Model No. Required along with 1, Ref. No: 51650 Taab Chemicals 2. Is the item a spare part attachment or accessory for an : Ref. No: 51650 Taab Chemicals Existing equipment 3. Name of the manufactures/Supplier of the item MIS TAAB LABORATORYIES EQUIPMENT LIMITED, Proposed by the indenter. England 4. Are they sole manufactures/sole distributors of the Yes 5. Is there any other item with similar/equivalent Νo specification available in the market to meet the job requirement envisaged. If the answer is yes, why the same cant be procured. Demanding Officer should bring out comparative functional advantage/cost effectiveness of the recommended item from these offered by other. 6. What were the efforts made to locate alternative N/A 7. Why open/limited tender cant be resorted to, for N/A locating alternative source. Are the proprietary items certifying that the rates are 8. Yes (Letter enclosed) reasonable or not. M/s TAAB LABORATORYIES EQUIPMENT LIMITED England 9. Any other justification for procuring item from single source. No it is a Proprietary items which delivered high Level sensitive and there fore it is stable.

Signature of Indenteror

Officer-in-charge (Stock)

All India Institute of Medical Science distant, New Delhi-110 029 and Negar, New Delhi-1 Dr. CHIERA SARKAR

(Head of the Department)

Prof. S.R. PANDA

India Institute of Medical Scientific of Medical Scientific Nation Res (Island 10 029 San Negar, New Osthican 1 M.D., F.A.Sc. I certify that the item at Sr. No.1 above is required to be நாருமுடிக் அருக்கு ingle tendent basis as the source of supply is definitely known/the specified brand proposeds/was advantages/dncmeeting our functional requirements and limited tender system could be dispensed With as they would serve no useful purpose in this particular case.

(Strike out whichever is not applicable)

Al Mach

Dr. ASH) RANJAH SHIPTIA Asst. Profession Depth Commenday

Althorat Problem at the College

College Hugher Have

 $Ass)_{i,j}(z)_{i\in I}$ Africa recta



AUTHORIZATION LETTER

TO WHOMSOEVER IT MAY CONCERN

WE HEREBY WISH TO CONFIRM THAT

M/S: M/s Jai Laxmi Enterprises,

4422, Gali Lotan Jat, Pahari Dheeraj, Sadar Bazar, Delhi – 110006.

CONTACT PERSON: MR. RAKESH KHANNA - 0-9818027820/9818028245

ARE OUR AUTHORIZE AGENT FOR NEW DELHI REGION. THEY ARE AUTHORIZED TO SUBMIT THE QUOTE, NEGOTIATE THE PRICES AND WILL PROVIDE THE AFTER SALES SERVICE TO OUR PRODUCT.

DURATION OF CONTRACT - 1.1.2014 TO 31.03.2016

MANAGING DIRECTOR

Dated: Jan 1" 2014

MATTERIED

2 4 FEB 2018

ADDRESS: MINERVA HOUSE, CALLEVA PARR, ALDERMASTON, READING, WEST BERRSHIRE RG7 8NA, UNITED KINGDOM, PROME: 44 118 981 7775



Laboratory and microscopy

Quotation

Date: 18/12/2015

A/c No. 2/AAI02

OUR REF: 51650

To: Department of Pathology

ALL INDIA INSTITUTE OF MEDICAL SCIENCES

Ansari Nagar New Delhi 110 029

India

Tariff No. for all products 9012909000

ltem .	Product Code	Description		Quantity	Cost each	TOTAL.
1	E015	EPOXY RESIN CY 212	1KG	5	75.09	375.45
2	D025	DDSA	500G	5	71.59	357.95
3	D022	DMP-30	500G	1	28.93	28.93
4	P001	PARAFORMALDEHYDE EM	500G	5	14.73	73.65
5	GG007/C	GILDER GRIDS G300 CU	100	30	31.27	938.10
6	GG007/N	GILDER GRIDS G300 NI	100	5	43.50	217.50
7	0001	OSMIUM TETROXIDE	1G	3	83,49	250.47
8	U001	URANYL ACETATE	50G	1	830.90	830.90
9	L.003	LEAD CITRATE	50G	3	157.62	472.86
10	E071	EMBEDDING MOULD FLAT B	1	5	30.06	150.30
11	K107	LEICA KNIFE BOX	3PCS	3	355,53	1066.59
12	T422	DUMONT HP TYPE 5 S/S A/MAG TWEEZER	1	2	38.76	77.52
13	T087	DUMONT BIO S/S A/MAG TYPE 5 TWEEZER	1	2	41.59	83.18
14	G067	SUPERGLASS 16 X 1 X 6MM	30	3	230.42	691.26
15	M010	MNA	500G	1	38.38	38.38
16	T066	SILVER TAPE 9MM	ROLL	5	52.73	263.65
		SHIPPING CHARGE TO NEW DELHI AIRPORT	ONLY			400.00
		VIA CONNEXIONS WORLD CARGO		ART - 177. ARTO - 1 - ARTO - 1		
		Total Invoice Value CIF New Delhi Airport				£ 6316.69

Teny Cign

MANAGING DIRECTOR

Dated: Dec 18th 2015

ANKA SINGH M.D.

Jalan Professor

Palleting Palleting

Dr. CHITRA SADKAR

Professor of tradiciony Officer-in-charge (Claric) All India Institute of Medical Griences Apsart Magar, New Delhi-110009

ADDRESS: MINERVA HOUSE, CALLEVA PARK, ALDERMASTON, READING, WEST BERKSHIRE RG7 8NA,

UNITED KINGDOM, PHONE:+44 118 981 7775

Va Inch

Dr. ASIT RANJAH MREDIA

Aust. Order ... or ... Deutl. Order ... or ... order ... order

Pr. RUMATE

Trespondent (1) - 1 y (1) Assit, Cellon (1) - 1 (1) Nore)
nore All India Institution in Professionary
August Wagas, 10 (1) (2) (1)